ks vs normalized x*

per traci

N of associated (recoToSim) los

tracks vs normalized x?

ToSim)

d (reco

2 4 6 8 10 12 14 16 18 20

track x?

e,

syoel arealidnp

0

[N o associate

s normalized 2 |

| N of reco track v;

Syoel) axe}

R

R

14 16 18 20

+*++*;++++;+++
8 10 12

7

4

i

track X2

+

1000,

sxoel arealdnp

Syoel) axey

D <

o
—

Ssyoel} anuy

e
o
—

05f--f--d-ani--
i
7 4 6

T ‘....:-. Hl T

10 12 14 16 18 20

»
8

track x?

[73_$P00RYUTLIER? 1000evt

T
o
—

syoel

<
o
B

O 46

N of reco track vs. gl

L
o < o ~
o =} o =}
- - - —

syoel




	Contents
	Page 1


